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r= spring rate for 1 convolution
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S= max stroke of bellows in inches / S= stroke in inches
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L=active convolution length

parallel side walled bellows can be compressed 40% of convolution length

n= length of one convolution

n
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P= pressure applied to bellows differential psi

I=bellows inside diameter in inches
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O=bellows outside diameter in inches
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t=wall thickness in inches

t
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R=spring rate in lb / inch

E for bellows
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Bellows material "Sulfur Free Nickel"

OD=0.375"

ID=0.25"

Convolution pitch 0.032"

wall thickness 0.002"

spring rate per convolution 270

max stroke per convolution 0.0075"

max stroke 0.303"

design stroke 0.118"

convolutions 40

max pressure 150 psig

bulking pressure 22 psig must be in guide tube

ag0420c Bellows for 8.73mm OD tube
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proof pressure is 1.75 * P

burst pressure is 2.5 * P
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